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The price of sugar goes up by 20%. If a housewife wants the expenses on ‘
sugar to remain the same, she should reduce the consumption by- |
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Price of an article is increased by P % new price is the reduced by P%. ‘
2 If the resulting price is Rs. 1, the original price was. |

oF e F AT P % F R g8 & R PY% B o £ &, 4R aforrft e 1
m% T A hHa =T AT ? |
(1) Rs. 1 |

(2) Rs. (1002) "
(3) Rs.

10000 |
10000—-p '
1—p?

\ 100

(4) Rs.
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If the radius of a circle is increased by 10% ‘
3 then percentage of increase of its area is —

af< et g &t BT § 10% Frgfg dr g an t

wﬁ?éﬁaﬁq@wwﬁw% (1)17 x

l
(4) 15
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lfa gets 25% more than a and b gets 20% more than c, then the share o ‘

4c out of a sum of Rs. 740 is:
i< aFr b 25% AT AT 83T b T ¢ A 20% AT&F, TV ¢ FT AAT 740 T

=T T 7 T 872
(1)Rs. 300 ;
(2) Rs. 200 |

(3) Rs. 240 |
(4) Rs. 350 -
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H The population of a town is 15000. If the number of males increases by EaX
5 8% and that of females by 10%, then the population would increases to
16300. Find the number of females in the town.

T STET it ATt 15000 g1 TfS TEOT =t §&AT 8% i Afgarstt i gean
10% T 92 ST §, T STAEEAT TEHL 16300 BN ATCHT| A5 § AIGATAT AT
TEAT T IqT A4

(2)[6000 ]

(3) 3000

(1) 4000
‘ (4) 5000
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In a test consisting of 80 questions, a student answered 75% of the first @Y “
660 guestions correctly, The percentage of the other question she needs
to answer correctly so that he score on the entire examination be 80% is
80 FaTAT & AT Tk T H, T ST gt 60 TATAT % 75% Al a1
T, 37T aTAT FT TG & & AT & ol JELd g qTih Ta2ra 80% T (¢ |
T ThEaTFT ?

(1) 20%
(2) 25%

3) 50%
(4) 95%0
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the month of July by 10%. If his salary in May 2000
was Rs. 15000 his salary in October 2001 was-

TF FHATU T A0 S[ATS & Al A gL a1 10% 98
w%nv&ﬁzoooﬁwaﬂwwooomma‘r

ST 2001 H ITHT 9T IT-
(1) Rs. 1815C
(2) Rs. 18960

(3) Rs. 19861
(4) Rs. 18902
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A person bought 50 pens for Rs. 50 each. He sold 40 o’ |
them at a loss of 5%. He wants to gain10% on the whole. §
Then his gain percent on the remaining pens should be

T <k 7 50 T4 § 50 U9 @< T8 5% * THATH I A ‘
4099 AT g . agﬁq'{m%glﬁ'&rwm% ar AW

AT L SHEHT ATH T ST (1) 15% (

(2) 40%
(3) 50%

<4>m
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9 A man buys two chairs for a total cost of Rs. 900. By selling one for 4/5
of its cost and the other for 5/4 of its cost, he make a profit of Rs. 90 on

the whole transaction. The cost of the lower priced chair is —

T T 900 T it T AWTT & AT QA HAIAT @URAT gl TIAT AW
4/5 F TorT T S 3N EL A S9! AN F 5/4 F 1T, 98 W A= 1<
90 TTY FHT ATH FHTAT gl FH HIAT FHI I AR § -

(1) Rs. 360

(2)Rs. 400]

(3) Rs. 420
(4) Rs. 300
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1 By selling an article for Rs. 1400 a man lost

0 30%. At what percent should he have sold it to
gain 30%?
1400 TIX H TH @ 995 T AeHT &l 30% Hi

gt giat g faae TqTaeag @ S artd 30%

T ATH BT ?
(1) Rs. 1500

(2) Rs. 1800
(3) Rs. 2000

(4) Rs. 2600
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! 1 A can complete 2/3 of a work in 4 days and B can
complete 3/5 of the work in 6 days. In how many days

f 1 can both A and B Together complete the work?

Il A, 4 AT § T T & 2/3 FT QT F 99 g AL B, 6

| el A FTH % 3/5 FTH FL Thal g {ohae (ol d AT A
3 B U 9T FTH T T G 87

|
|

(1) 3
(2) 2

(3] 3(3/4) |
(4)2(778)
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| 1 B and C complete a piece of work in 12 days, C and A
2 candoitin 8 day. All the three can do it in 6 days. A |
and B together can complete it in — "
T ST €T 12 o1 | 1 =7 U THeT 91T, ST AR T IE 8 |
REA o d Ao RATRarI I AskB |
T 979 58 QT F 94 & - |
(1) 4
days
(2) 6
days
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;
A is thrice as good a workman as B and is, therefore, able to finish ‘

a piece of work in 60 days less than B. The time (in days) in which
3 they can do it working together is —

@ﬁmﬁ%mﬁa@@w*@ﬁ%aﬂ?wﬁt St
60 foAT | FTH FT TH THeT GcH FLA A 987 gl g0 (i #) S+ 3
T TF 9T HTH F 94 @ -

(1) 22
2
(3

(4) 23 (1/4)
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| 1 A person travels 285 km in 6 hr. In the first part of
the journey, he travels at 40 km/hr by bus. In the

4 second part, he travels at 55 km/hr by train. The
distance traveled by train is .

|
! T 1<k 6 = | 285 fHHt St AT HLAT g1 IATAT F Tgat
- 9T H, 98 99 9 40 B/ e awr § 95 55 e/ W e

T (1) 56 km ]
(2) 165 km
(3) 615 km

(4) 561 km
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Cyclist A started his journey on cycle at 7:30 a.m. at a speed of 8
km/hr. After 30 minutes, cyclist B started from the same place but with
a speed of 10 km/hr. At what time did B overtake A?

Cyclist A 8 fasft wfa et it 1far & garg 7:30 s wrsfaret 9 (U=t Im=T OF
11 30 e F a1g, arEfhe AT §F TF 1 S8 § L& < =41, afFT 10
et wir sieT & i & &, foee g ft 7 T e e

(1) 9 am |
(2) 9.30 am ), |

@
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A motor car goes to a place at a speed of 20 km/hr and returns
from there at a speed of 30 km/hr The average speed (in km/hr) of
the car in the entire journey is —

T HIe< H1 20 FrHT gfa =t St T & T T 9 ATt g S agi o
30 forHt i seT it i & a9 St 8, T ITAT | I ht 6 T
(FreifeieT #) & -

(1) 26
(2) 25

(4) 24.5
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! 1 When a person cycled at 10 km/hr. he arrived at his ‘
7 office 6 minutes late. He arrived 6 minutes early,

af

when he increased his speed by 2 km/hr. the distance

of his office from the stating place is —
ST T A1k 10 1/ T qrgihet ¥ (a7 F A9 7 6 |i‘
e T T M 98 6 e ger 3T, 5 9 2 i/ W

l'

(1)
@7 |
(3)12
(4) 16
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The wheel of a bus 0.75 m in radius, makes 84
revolutions in half minute. Then the speed of the
bus in km per hour is —

T 99 7 qfd1 0.75 HieX F=ar ¥, e A= # 84
FHTAAT FATdT &, av Ui sie foneft § s iy 1fq g -

()78 ]
(2) 47.52

(3) 23.76
(4) 33.26
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A train A is 180 meters and 220 meters long are running in
opposite directions at a speed of 40 km/hr and 50 km/hr |
respectively. They cross each other in-

T o T 180 Hiex 3T 220 HieT wi+lt g SIv wwer: 40 fafi/eer six 50
et i sier it e & fAuda feamsti § =7 Wi gl F T A Hl I H-

(1)[21 sec. |
(2) 21.6 sec.
(3) 26.1 sec.

(4) 26 sec.
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The difference of interior angle of {

regular pentagon and exterior angle of

regular decagon is:

It 9= i fRaf®a decagon % ‘
WW%QW&Q)WWW% (1 600

(2 720
(3) 36°
(4) 1089
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:
A man purchased some eggs at 3 for Rs. 5 and sold them at 5 for Rs. ‘
12. Thus he gained RS. 143 in all. The number of eggs he bought is — |

T AT 9 3 TAC H F 3 G MY g 5 TACH 12 Tq¢ § a9 faamn ==
YT I T ITH . T H§ 143, 399 {7 3ie GlQ g, STl 94T 39 Th

(1) 210
§)200 ;
(3) 195 Il
(4) 190 ‘




T
When the price of fans was reduced by 20%, the number of fans T ‘ \
sold increased by 40%. What was the effect on the sale proceeds? |
ST Tah FT FHT 20% T T g7 T8 off, T I TC I49hi F geqr d
40% #Y gfg g2 faeht s 9 .7 TH/1T =72

(1)
(2) 14% decrease

(3) 16% increase
(4) 18% decrease




‘ Question of the \

In triangle PQR, points A, B aQﬁ.‘yare taken on PQ, PR and QR
respectively such that QC = AC and CR = CB. If £ QPR =409,
the ZACB is equal to :

1T PQR ¥, &% T, &t 3T €t PQ, PR 3T QR 9 FH: TH T&
ﬁlﬂTG%‘clT%ﬁ?QC-ACSﬂTCR-CBHﬁLQPR=40°,LACB%F |i
q{d{ 3.
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(1) 1400
(2) 400
(3) 700
(4) 1000
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